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#include<iostream>
#include<cstdio>
#include<algorithm>
#include<cstring>

#define 11 long long

#define ull unsigned long long
using namespace std;

int read

int k=0, f=1;char c=getchar();
;1isdigit(c);c=getchar c=="'-"') f=-1;
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;isdigit(c);c=getchar k=k*10+c-'0"; k*f;
int n,m,pos ,headl , vl ,V2 ;
int a b , C , sum ;
ull pw ,hs ,hs2 ;
char s ;

ull queryl(int x,int 1
hs x+1l-1]-hs|[x-1]*pw/[1l];
ull query2(int x,int 1
hs2[x+1-1]-hs2[x-1]*pw/[1l];
bool cmp(int i,int j
s[i]==s[]
int mid,1=1,r=n-max(i,j)+1,res=0;
int len=r;
r>=1
mid=1+r>>1;

queryl(i,mid)==queryl(j,mid
res=mid, l=mid+1;

r=mid-1;
len==res
j>1i ;
sum|[i+res-1]-sum[i-1|==0||sum/i+res-1]-sum|[i-1]/==res
sli+res-1]|!=s|i+res ;
;
sli+res-1|!=s|i+res ;

.
1

int mid, =1, r=n-max(i,j)+1,res=0;
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int len=r;
r>=1

mid=1+r>>1;
queryl(i,mid)==query2(j,mid
res=mid, l=mid+1;

r=mid-1;
// cout<<i<<" "<<j<<" "<<res<<endl;
len==res
j>i 0;
L5

sum/i+res-1]-sum|[i-1|==0]||sum|/i+res-1]/-sum/i-1]/==res

s[i+res-1]!=s[i+res 1;
0;

s[i+res-1]!=s[i+res 0;
1;

int main

pw(0]|=1;
int i=1;1i<=100000;i++
pw/il=pw[i-1]*31;
scanf("%d",&n) !'=EOF

scanf("%s",s+1);
int i=1;i<=n;i++

clil=1i;
alil=s[il-'a',bl[il=alil"1;
sum/il=sum[i-1]+alil;
hs[il=hs[i-11*31+alil;
hs2[il=hs2[i-1]*31+b[i];

sort(c+l,c+l+n,cmp);
/! cout<<queryl(1l,1)<<" '"<<query2(2,1)<<" ";
// cout<<cmp(3,5)<<" ";
int i=1;i<=n;i++
printf("sd ",cl[i]);
puts("");
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0;

B.Infinite Tree

g
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#include<bits/stdc++.h>

using namespace std;

#define mem(a,b) memset(a,b,sizeof(a))
typedef long long LL;

typedef pair<int,int> PII;

#define X first

#define Y second

inline int read

int x=0,f=1;char c=getchar();

lisdigiti(c c=='-"')f=-1;c=getchar();
isdigit(c)){x=x*10+c-'0"';c=getchar();
x*f;

const int maxN=100000;
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int n,End, len,prime|maxN+ ,mdiv [ maxN+ c
LL sum|[maxN+ ,ans;

PII almaxN* ;

void init

int i=2;i<=maxN;i++

Imdiv/[i]|)prime[++End|=1i,mdiv/i|=1;
int j=1;j<=End && i*prime|j|<=maxN;j++

mdiv/|[i*prime|j ! |=primej|;
i%primelj|== ;

bool cmp(PII a,PII b
a.X==b.X ? a.Y<b.Y : a.X>b.X;

int main

init();
scanf("%d",&n) '=EOF

int i=1;i<=n;i++)sum[il=read(),sum[i]+=sum[i-1];
len=0;ans=0;
int i=2;i<=n;i++

int tmp=i;
tmp>

a/++len|=make pair(mdiv/ tmp!,1i);
tmp/=mdiv|[tmp];
ans+=sum/n|-sum|[i-1];

sort(a+l,a+len+1l,cmp);
int 1=1,r=n;
int i=1;i<=len;++i

211*(sum[r]-sum/[1- <sum|n ;
alil.Y>r ;
int k=max(l,alil.Y);
211*(sum[r]-sum/|k- >sum/n])ans-=211*(sum|[r]-sum|k- -
sum/nl,l=k;
r=k-1;

printf("sLld\n",ans);
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O $(\sum_{i=1}"nb ix i)"2$0 0 00 O $P-Q~{-1}mod 998244353%

o

O O byfyh

0000000000000000000000007$$x~TAx\leql \\ max\{b~T-x\} $$ O $a
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\lambda\frac{\part x*TAx}{\part x_i}=b_i-2\lambda\sum_{j=1}"nA_{ij}x_j \\ \begin{pmatrix}
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#include<bits/stdc++.h>

using namespace std;

#define mem(a,b) memset(a,b,sizeof(a))
typedef long long LL;

typedef pair<int,int> PII;

#define X first

#define Y second

inline int read

int x=0,f=1;char c=getchar();

lisdigit(c c=='-"')f=-1;c=getchar();
isdigit(c)) {x=x*10+c-"'0"';c=getchar();
x*f;

const int maxn= ,MOD= ;

int n;
LL almaxn][maxn<<l],b[maxn];
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LL quickpow(LL a,int N,int mod

LL res=1,tmp=a;
N

N&1 ) res=(res*tmp)%mod;
tmp=(tmp*tmp)%mod;
N>>=1;

res;

LL Inv(LL a quickpow(a,MOD-2,MO0D) ;
void gauss

int i=1;i<=n;i++)/000000000001-100000

int k=i;
int j=i+1;j<=n;j++ aljllil=alk]l[i])k=j;/00000000000O0
Ooodooodon
LL del=alk][i];
int j=i;j<=2*n;j++)swaplalil[jl,alkl[j]);
int j=i;j<=2*n;j++)alil[jl=(alil[j!*Inv(del) ) %MOD;
int j=1;j<=n;j++
jl=1i
del=aljlli];

int k=i;k<=2*n;k++)aljlkl=(aljl k]-
alil[k!*del+(LL)MOD*(LL)MOD)%MOD;

int main
scanf("%d",&n) '=EOF
int i=1;i<=n;i++
int j=1;j<=n;j++)alil[jl=read();
int j=n+1;j<=2*n;j++)ali] [j]=0;
alilli+ni=1;
int i=1;i<=n:i++)blil=read():
LL ans=0;
gauss();

int i=1;i<=n;i++
int j=1;j<=n;j++)ans=(ans+ali|[j+n|*b[1i]%MOD*b|j ) %MOD;
printf("slLld\n",ans);
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F.Infinite String Comparision

HEN
gbobooobboooboo
an

solved by hxm

gobooobobooobbooobobooobboon

#include<algorithm>

#include<iostream>

#include<cstdlib>

#include<cstring>

#include<cstdio>

#include<vector>

#include<queue>

#include<cmath>

#include<map>

#include<set>

#define LL long long int

#define REP(i,n) for (int 1 1; i <= (n); i++)

#define Redge(u) for (int k h[ful],to; k; k = ed[k].nxt)

#define cls(s,v) memset(s,v,sizeof(s))

#define mp(a,b) make pair<int,int>(a,b)

#define cp pair<int,int>

using namespace std;

const int maxn = 300005,maxm = 100005,INF = Ox3f3f3f3f;

inline int read

int out = 0,flag = 1; char ¢ = getchar();

c <48 || ¢ > 57 c =="'-"') flag = 0; c = getchar();
c >= 48 && ¢ <= 57){out = (out << 1) + (out << 3) + ¢c - 48; ¢ =

getchar();
flag ? out : -out;

char Almaxn],B[maxn];
int n,m;
int main
char *a,*b; int tag;
~scanf("%s%s",A + 1,B + 1
tag = 0;

n = strlen(A + 1);
m = strlen(B + 1);
n>m) a=A,b=B;
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a =B,b=A,swap(n,m),tag = 1;

int i =1; i <= n; i++) aln + i] = alil;
inti=1; 1 <=m; i++

int j=1; i+ 3j *m<=2*n; j++) bl(i + j * m] = b[i];
int flag = 0;
inti=1; 1 <= (n<<1); i++
alil '= bli
alil = blil) flag = 1;
alil < bli]l) flag = -1;
flag == - puts(tag 7 ">" :@ "<");
flag == puts(tag ? "<" : ">");

puts("=");

0;

H.Minimum-cost Flow

o

O0000000O0000O0000DOoOoOgO0SNfrac{u_i{vi}$j00ooooloooooogooon
O00D00OD0O0ONaN.

o

solve by fyh hxm

00000000 [g$\ceil\frac{v_i}{u_iHrceil>maxflow$0 000D 000000000
O $\frac{u_i}{v_i}$00 O O O O $maxflowsD 0 O O $\frac{u_i}{v_i}*maxflows0 0 0010000000

goobooobbooobooobobooobbdoobboobbbodbbooobbooob o
O00s$ks0 0000000 DOOsks0 000D 000ooo0ooooooooooooooooog
goobodd

#include<iostream>

#include<cmath>

#include<queue>

#include<cstdio>

#include<cstring>

#include<algorithm>

#define LL long long int

#define REP(i,n) for (int i = 1; 1 <= (n); 1++)

#define Redge(u) for (int k h[ful],to; k; k = ed[k].nxt)
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#define BUG(s,n) for (int i = 1; i <= (n); i++) cout<<s[i]<<' '; puts("");
using namespace std;
const int maxn = ,maxm = , INF = ;
inline int read
int out = 0,flag = 1; char ¢ = getchar();
c < || ¢ = c == "'-'") flag = -1; c = getchar();
c >= & ¢ <= out = (out << + (out << +c - '0'; c
= getchar();
out * flag;
int n,m,K,h[maxn],ne = 2,S,T,Q;
struct EDGE{int to,nxt,f,w; }ed[maxm];
inline void build(int u,int v,int f,int w
ed nel = (EDGE){v,hlul,f,wi; hlul = ne++;
ed/ne] = (EDGE){u,hl[v],0,-w}; h[v] = ne++;
int dimaxn|,minf[maxn|,p[maxn|,ing/maxn],ans , len;
queue<int> q;
int mincost
int flow = 0,cost = 0;
true
int i = 0; i <= T; i++) d[i] = INF,inqli] =
d/S| = 0; minf[S] = INF;
g.push(S);
int u;
'q.empty
u=q.front(); q.pop();
inqlu] = false;
Redge(u ed k].T & d[to = ed|/k].to] > dlu] + ed/k|.w
dlto] = dlul + edlk]|.w; plto] = k; minf[to]| =
min(minflul,ed[k].f);
linq[to!) q.push(to),inqglto]| = true;
d/T] == INF ;
flow += minf|[T];
cost += minf[T] * d[T];
ans|++len|=cost;
u=-T;
u'=-5
ed/piul].f -= minf[T];
edplul © . += minf[T];
u=-edplu * .to;
flow;
int gcd(int a,int b
==0 7 a : gcd(b,a%b);
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int main
int a,b,w,u,Vv;
scanf ("%d%d",&n,&m) ! =EOF

ne=2;
int i=1;i<=n;i++)h[1i]=0;
int i=0;i<m;i++)a=read(),b=read(),w=read(),build(a,b,1,w);

S=1;T=n; len=0;
int FLOW=mincost();
Q=read();

Q--

u=read();v=read();
double tmp=(double)v/(double)u;
tmp>(double) FLOW)printf (“NaN\n");

int ansl=ans|v/ul*u,ans2=v;
vS%su)ansl+=(ans|v/u+l|-ans|v/ul)*(vSu);
printf("%d/%sd\n",ansl/gcd(ansl,ans2),ans2/gcd(ansl,ans2));

J.Easy Integration

0d
O $\int~ {1} _{0}{(x-x"2)"ndx}$
00

O00O00oooooog $\frac{(n)~2}{(2n+1)'}$

#include<iostream>
#include<cstdio>
#include<algorithm>
#include<cstring>
#define 11 long long
using namespace std;
int read

int k=0, f=1;char c=getchar();
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;1isdigit(c);c=getchar =="'-"' =-1;
;isdigit(c);c=getchar k=k*10+c-'0"; k*f;
const int N= , M= ,mod= ;

int n,frac[N];
int ksm(int x,int k

int ans=1;
sk k>>=1, x=111*x*x%mod

k&
ans=111*ans*x%mod;
ans;
int main
frac =1;

int 1=2;i<=M*2+1;i++
fraclil=111*i*frac|/i-1]%mod;
scanf("%d",&n) '=EOF

printf("slld\n",1l1*frac/n/*frac/n/%smod*ksm(frac|2*n+

oo
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